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Sample Paper – 2011
Class – XII
 Subject – Accountancy
Time: 3 Hours 








                  M.M. 80

General Instructions:          









(i) This question paper contains three parts – A, B and C.

(ii) Part A is compulsory for all.
(iii) Attempt only one part of the remaining parts – B and C.

(iv) All parts of questions should be attempted at one place.  

Part A (Accounting for Not-for-Profit Organisations, Partnership Firms and Companies)

1. Name any two items which are shown in Income and Expenditure A/c but not in Receipts and Payments A/c.    









       (1)
2. A, B and C are partners and decided that no interest on drawings is to be charged to any partner.  But after one year ‘C’ wants that interest on drawings should be charged to every partner.  State how ‘C’ can do this.  







       (1)
3. As for Accounting Standard – 10, what type of Goodwill can be recorded in the books of account?                                                                                                                                      (1)
4. What are Bearer Debentures?          







       (1)
5. Who should compensate whom in case of a change in the profit sharing ratio of the existing partners?      










       (1)
6. How will you deal with the following case while preparing the Income & Expenditure A/c for the year ended 31st March, 2010?                                                                       

       (3)
BALANCE SHEET as at 1st April, 2009

	Liabilities 
	
	Assets
	[image: image1.png]




	Creditors for Sports Material
	12,000
	Sports Material
	16,000


RECEIPTS AND PAYMENTS ACCOUNT for the year ended 31st March, 2010

	Receipts 
	[image: image2.png]



	Payments
	[image: image3.png]




	
	
	Sports Material
	2,80,000


           Additional Information: Sports material on hand on 31st March, 2010, [image: image4.png]


44,000

7. Bharat Ltd. issued 10,000; 8% Debentures of [image: image5.png]


100 each.  Pass the necessary Journal entries for issue of debentures in the following cases:                            



       (3)
(i) When debentures are issued at par and are redeemable at 5% premium. 

(ii) When debentures are issued at 5% premium and are redeemable at par. 

(iii) When debentures are issued at 5% premium and are redeemable at 5% premium. 

8. Y Ltd.’s authorised capital was [image: image6.png]


1,00,00,000 divided into equity shares of [image: image7.png]


100 each.  On 1st April, 2009, the company offered for subscription 10,000 such shares at par.  The public applied for 9,000 shares which were allotted.  Can the remaining 1,000 shares be issued at a discount of 11%?  If yes, state the conditions which the company must fulfill for the same.         




       (3)
9. Akash Ltd. issued 1,00,000 shares of [image: image8.png]


10 each, payable as follows:
[image: image9.png]


2 on application payable on 1st March, 2006; [image: image10.png]


3 on allotment payable on 1st May, 2006; [image: image11.png]


2 on first call payable on 1st August, 2006 and [image: image12.png]


3 on second and final call payable on 1st December, 2006.  All these shares were subscribed for and amounts duly received.  Akriti, who had 8,000 shares, paid the amount of both the calls alongwith the allotment.  Suniti, who had 4,000 shares, paid the amount of second and final call with the first call.  Calculate the amount of interest on Calls in Advance payable to Akriti and Suniti.  The company adopts Table A.  








       (4)
10. A, B and C are partners sharing profits in the ratio of 5:4:1.  C is given a guarantee that his share of profit in any year will not be less than [image: image13.png]


5,000.  The profits for the year ended 31st March, 2009 amounts to [image: image14.png]


35,000.  Amount of shortfall in the profits given to C will be borne by A and B in the ratio of 3:2 respectively.  Show the Profit & Loss Appropriation A/c.               







        (4)
11. X, Y and Z were sharing profits and losses in the ratio of 5:3:2.  They decided to share future profits and losses in the ratio of 2:3:5 with effect from 1.4.2007.  They decided to record the effect of the following, without affecting their book values:-                                






        (4)
(i) Profit and Loss Account (Dr. Balance) [image: image15.png]


24,000

(ii) Advertisement Suspense Account         [image: image16.png]


12,000  
12. (a) Raghav Limited purchased a running business from Krishna Traders for a sum of [image: image17.png]


15,00,000, payable[image: image18.png]


3,00,000 by cheque and for the balance issued 9% Debentures of [image: image19.png]


100 each at par.  
The Assets and Liabilities consisted of the following:





      [image: image20.png]



Plant and Machinery

4,00,000
Building 


6,00,000
Stock



5,00,000
Sundry Debtors


3,00,000
Sundry Creditors


2,00,000
Record necessary Journal Entries in the Books of Raghav Limited.

(b) On January 1, 2004, Ranbaxy Limited issued 1,000 10% debentures of [image: image21.png]


500 each at par.  Debentures are redeemable after 7 years.  However, the company gave an option to debenture holders to get their debentures converted into equity shares of [image: image22.png]


100 each at a premium of [image: image23.png]


25 per share anytime after the expiry of one year. 
Shiv, holder of 200 debentures, informed on Jan. 1, 2006 that he wanted to exercise the option of conversion of debentures into equity shares.  

The company accepted his request and converted debentures into equity shares.

Pass necessary Journal entries to record the issue of debentures on Jan. 1, 2004 and conversion of debentures on Jan. 1, 2006.                   









    (3+3)
13. From the following Receipts and Payments Account ABC Sports Club and the additional information, prepare an Income and Expenditure Account for the year ended 31st March 2006 and a balance sheet as on that date.                                                                                                             


        (6)
RECEIPTS & PAYMENTS ACCOUNT 
for the year ended 31st March, 2006

	Receipts 
	       [image: image24.png]



	Payments
	       [image: image25.png]




	To Balance b/d:

                    Cash                          250

                    Bank                       3,890

                    Fixed Deposit       10,000
To Subscription (including [image: image26.png]


1,000 for 2006-07)

To Entrance fees

To Donations 

To Interest on Fixed Deposits

To Tournament Fund

To Sale of Old furniture 
	14,140

25,000

8,000

101

900

5,000

510


	By sports material

By maintenance 

By match expenses

By salaries 

By conveyance 

By upkeep of lawn

By postage stamps

By honorarium 

By sundry expenses

By investments 

By tournament expenses

By balance c/d:

           Cash                         7,046

           Bank                         1,890

           Fixed Deposits       10,000          


	2,890

620

810

22,100

710

780

125

500

280

2,000

3,900

18,936

	
	53,651
	
	53,651



Information:
(a) Monthly Salary is [image: image27.png]


2,000.

(b) The value of unused postage stamps is [image: image28.png]


95 and [image: image29.png]


105 as on 31st March 2005 and 31st March 2006 respectively.  
(c) Stock of sports equipment is as follows: 31st March 2005 [image: image30.png]


585; 31st March 2006 [image: image31.png]


625.
(d) Arrears of subscription: 31st March 2005 [image: image32.png]


810; 31st March 2006 [image: image33.png]


220.
(e) Entrance fee is to be capitalised. 
14. L, M and N were partners of a firm sharing profit in the ratio of 4:3:3.  On 31st March, 2006 their Balance Sheet was as follows:                                                                                           


       (6)
BALANCE SHEET as at 31st March, 2006

	Liabilities 
	[image: image34.png]



	Assets 
	[image: image35.png]




	Creditors 

Reserve

Capitals:

                                L

                                M

                                N


	87,000

33,000

1,05,000

85,000

80,000
	Building 

Machinery 

Stock

Debtors

Cash
	1,70,000

1,20,000

40,000

45,000

15,000

	
	3,90,000
	
	3,90,000



M died on 30th June, 2006.  Under the partnership agreement the executors of a deceased partner were entitled to:
(i) Amount standing to the credit of deceased partner’s capital account at the time of his death.

(ii) Interest on capital at 12% p.a. 

(iii) His share of goodwill.  The goodwill of the firm on M’s death was valued at [image: image36.png]


2,70,000.
(iv) His share in profit of the firm from the closing of the last financial year till the date of death on the basis of last year’s profit.  The profit of the firm for the year ended 31st March, 2006 was [image: image37.png]


2,40,000.  
Prepare M’s Capital Account to be rendered to his executor.  
15. On 31st December 2004, The Balance Sheet of A and B, who are partners in a firm sharing profits in the ratio of 3:2 was as follows:                                             





       
	Liabilities 
	[image: image38.png]



	Assets 
	[image: image39.png]




	Capital Accounts:

                                   A

                                   B 

General Reserve

Workmen’s Compensation Fund

Creditors 
	10,000

8,000

15,000

5,000

12,000
	Plant and Machinery 

Land & Buildings

Debtors                             12,000

Less: Provision                   1,000
Stock

Cash 
	10,000

8,000

11,000

12,000
9,000

	
	50,000
	
	50,000


They agreed to admit C into partnership for 1/5th share of profits on the following terms:

(i) Provision for doubtful debts would be increased by [image: image40.png]


2,000.

(ii) The value of Land and Building would be increased to [image: image41.png]


18,000.
(iii) The value of stock would be increased by [image: image42.png]


4,000.
(iv) The liability against workmen’s compensation fund is determined at [image: image43.png]


2,000.
(v) C brought in as his share of goodwill [image: image44.png]


10,000 in cash.
(vi) C would bring further cash as would make his capital equal to 20% of the total capital of the new firm, after the above revaluation and adjustments are carried out.  
Prepare Revaluation Account, Partner’s Capital Account and Balance Sheet of the new firm.  
        (8) 
16. Shiva Ltd. invited application for issuing 2,00,000 Equity Shares of [image: image45.png]


100 each at a premium of [image: image46.png]


60 per share.  The amount was payable as follows:
On application [image: image47.png]


30 per share (including premium [image: image48.png]


10)

On allotment[image: image49.png]


70 per share (including premium [image: image50.png]


50)

On first and final call the balance amount. 

Applications for 1,90,000 shares were received.  Shares were allotted to all the applicants and the company received all money due on allotment except Jain who had been allotted 1,000 shares, and his shares were immediately forfeited.  Afterwards first and final call was made.  Gupta did not pay the first and final call on his 2,000 allotted shares.  His shares were also forfeited.  50% of the forfeited shares of both Jain and Gupta were re-issued for [image: image51.png]


90 per share as fully paid up. 
Pass necessary journal entries in the books of Shiva Ltd. for the above transactions.  


         (8)  
OR
Dena Ltd. invited applications for issuing 3,00,000 Equity shares of [image: image52.png]


10 each at a discount of 3%.  The amount was payable as follows:

On application - [image: image53.png]


2 per share

On allotment - [image: image54.png]


4 per share

On first and final call – the balance amount 

The issue was fully subscribed.  Shares were allotted to all applicants.  ‘A’ to whom 4,000 shares were allotted paid the entire amount of his share money at the time of allotment.  ‘B’ to whom 1,800 shares were allotted failed to pay the allotment money and his shares were immediately forfeited.  Afterwards the first and final call was made.  ‘C’ did not pay the first and final call on his 750 shares and his shares were also forfeited.  All the forfeited shares of ‘B’ and 500 shares of ‘C’ were reissued for[image: image55.png]


8 per share as fully paid up.  Pass necessary journal entries in the books of Dena Ltd. for the above transactions.   
PART B (ANALYSIS OF FINANCIAL STATEMENTS)
17. Dividend paid by a finance company is classified under which kind of activity while preparing Cash flow statement?                 









        (1)
18. JMD Ltd. is engaged in constructing and selling residential flats.  State giving reasons whether the cash flow due to the construction and selling of residential flats will cash flow from operating activities, investing activities or financing activities?        







        (1)      

19. If the Debt Equity Ratio of a company is 2:1.  State whether ‘Conversion of Debentures in Equity shares’ will (i) Increase, (ii) Decrease or have (iii) No Effect on the Debt Equity Ratio.        

        (1)
20. Briefly explain any three objectives of ‘Financial Statement Analysis’.                 


        (3)
21. You are able to collect the following information about a company for two years:

2004 ([image: image56.png]


)
2005 ([image: image57.png]


)


Book Debts on April 01

4,00,000
5,00,000


Book Debts on March 31


5,60,000


Stock in trade on March 31
6,00,000
9,00,000


Sales (at Gross profit of 25%) 
3,00,000
24,00,000

Calculate Stock Turnover Ratio and Debtors Turnover Ratio for the above two years if in the year 2004 stock increased by [image: image58.png]


2,00,000.                                                      




        (4)
22. Which liabilities are shown in Balance Sheet as a foot note only?  Give three examples of such liabilities.                          








        


        (4)
23. Calculate Cash flows from operating activities from the following information:                

        (6)
PROFIT & LOSS ACCOUNT for the year ended March 31, 2010
	Particulars 
	[image: image59.png]



	Particulars 
	[image: image60.png]




	To Rent

To Salary

To Depreciation 

To Loss on sale of Machinery

To Goodwill written off

To provision for tax

To Net Profit 


	30,000

65,000

10,000

6,000

4,000

16,000

1,79,000
	By Gross Profit

By Profit on sale of Furniture

By Income Tax Refund

	3,00,000

4,000

6,000


	
	3,10,000
	
	3,10,000


             Additional Information:


April 01, 2009

April 31, 2010







        ([image: image61.png]


)

         ([image: image62.png]


)   

Provision for Tax


18,000


26,000



Proposed Dividend


15,000


25,000


Outstanding Rent 


4,000


5,000


Accounts Payable


42,000


50,000


Accounts Receivable 


30,000


42,000


Inventories 



50,000


44,000


Short term Investment


20,000


30,000  
Part C (Computerised Accounting)
[image: image132.png]

Sample Paper – 2

Time: 3 Hours 









     M.M. 80
General Instructions:          









(i) This question paper contains three parts – A, B and C.

(ii) Part A is compulsory for all.

(iii) Attempt only one part of the remaining parts – B and C.

(iv) All parts of questions should be attempted at one place.  

Part A (Accounting for Not-for-Profit Organisations, Partnership Firms and Companies)
1. Name any two items which are shown in Receipts and Payments A/c but not in Income and Expenditure A/c.    









       (1)

2. A, B and C are partners and decided that no interest on capital is to be allowed to any partner.  But after one year ‘C’ wants that interest on capital should be allowed to every partner.  State how ‘C’ can do this.  







       

       (1)
3. Give two circumstances in which gaining ratio may be applied.  



       (1)
4. What are Registered Debentures?          




   

       (1)
5. Under what circumstances premium for goodwill paid by the incoming partner would never be recorded in the books of account?   







       (1)
6. Y Ltd.’s authorised capital was [image: image63.png]


1,00,00,000 divided into equity shares of [image: image64.png]


100 each.  On 1st April, 2009, the company offered for subscription 10,000 such shares at par.  The public applied for 9,000 shares which were allotted.  Can the remaining 1,000 shares be issued at a discount of 11%?  If yes, state the conditions which the company must fulfill for the same.      




        (3)
7. Subscription received by a club during 2007-08 is [image: image65.png]


50,000 while the amount shown in Income and Expenditure Account is [image: image66.png]


60,000.  If the outstanding subscription for the year 2007-08 is [image: image67.png]


6,000 and advance subscription received during 2006-07 for 2007-08 is [image: image68.png]


7,000 and outstanding subscription for 2006-07 is [image: image69.png]


5,000.  Show the amount of subscription received for 2006-07 during 2007-08.   
       (3)
8. Hindustan Ltd. issued 20,000; 10% Debentures of [image: image70.png]


10 each.  Pass the necessary Journal entries for issue of debentures in the following cases:                            


       (3)
(i) When debentures are issued at 10% premium and are redeemable at par. 

(ii) When debentures are issued at par and are redeemable at 10% premium. 

(iii) When debentures are issued at 10% premium and are redeemable at 5% premium. 

9. Meena Ltd. issued 60,000 shares of [image: image71.png]


10 each at premium of [image: image72.png]


2 per share payable as [image: image73.png]


3 on application, [image: image74.png]


5 (including premium) on allotment and the balance on first and final call.  Applications were received for 1,02,000 shares.  The directors resolved to allot as follows:   
   I Applicants for 60,000 shares allotted 30,000 shares. 

  II Applicants for 40,000 shares allotted 30,000 shares.

III Applicants for 2,000 shares allotted NIL

Nikhil who applied for 1,000 shares in category I and Vishnu who was allotted 600 shares in category II failed to pay the allotment money.  Calculate the amount received on allotment.             

       (4)  
10. X, Y and Z are partners sharing profits in the ratio of 5:4:1.  Y is given a guarantee that his share of profit in any year will not be less than [image: image75.png]


15,000.  The profits for the year ended 31st March, 2009 amounts to [image: image76.png]


35,000.  Amount of shortfall in the profits given to Y will be borne by X and Z in the ratio of 2:3 respectively.  Show the Profit & Loss Appropriation A/c.               







        (4)
11. A, B and C were sharing profits and losses in the ratio of 5:3:2.  They decided to share future profits and losses in the ratio of 3:2:5 with effect from 1.4.2007.  They decided to record the effect of the following, without affecting their book values:-                                






        (4)
(i) Profit and Loss Account (Cr. Balance) [image: image77.png]


24,000

(ii) Advertisement Suspense Account         [image: image78.png]


36,000  
12. From the following Receipts and Payments Account ABC Sports Club and the additional information, prepare an Income and Expenditure Account for the year ended 31st March 2006 and a balance sheet as on that date.                                                                                                             


        
RECEIPTS & PAYMENTS ACCOUNT 

for the year ended 31st March, 2006

	Receipts 
	       [image: image79.png]



	Payments
	       [image: image80.png]




	To Balance b/d 
To Entrance Fee

To Subscription 

To Donations

To Life Membership Fees

To Interest on Deposits 

To Proceeds of Tournament


	3,190
550

18,000

1,650

2,500

480

2,320


	By Rent 
By Wages 

By Lighting Charges 

By Books Purchased 

By Office Expenses 

By 8% Fixed Deposit

(on 1st Oct. 2005)

By Tournament Expenses 

By Balance c/d
	1,680
2,450

720

2,480

4,500

12,000

2,020

2,840

	
	28,690
	
	28,690



Other Information:
On 31st March, 2005 the possessed Books worth [image: image81.png]


20,000 and Furniture worth [image: image82.png]


8,500.  Provide depreciation on these assets @ 10% including the purchase during the year.  

Subscription in arrears at the beginning of the year amounted to[image: image83.png]


350 and at the end of the year [image: image84.png]


550 were outstanding.  

The Club paid [image: image85.png]


420 rent in advance both at the beginning and at the end of the year.   

        (6)
      13.(a) Jindal Limited purchased a running business from Mohan Traders for a sum of [image: image86.png]


14,00,000, payable[image: image87.png]


2,00,000 by draft and for the balance by issuing 10% Debentures of [image: image88.png]


100 each at 20% premium.
The Assets and Liabilities consisted of the following:





      [image: image89.png]



Land & Building  

4,00,000

Machinery


5,00,000

Stock



3,00,000

Sundry Debtors


3,00,000

Sundry Creditors


2,00,000

Record necessary Journal Entries in the Books of Jindal Limited.

(b) Shivani Industries Ltd. issued 4,20,000, 8% debentures of [image: image90.png]


100each at a premium of 10% on Oct. 1, 2002 redeemable by conversion of debentures into shares of [image: image91.png]


10 each at a premium of 5% on June 30, 2006.  Record necessary journal entries for issue and redemption of debentures.   


   (3+3)
14. Bhatt and Seth were carrying on a business in partnership sharing profits and losses in the ratio of 3:2 respectively.  They closed their books of accounts every year on 31st December.  Their Balance Sheet as on 31st December, 1991 was as follows:    






        
BALANCE SHEET as at 31st December, 1991
	Liabilities 
	[image: image92.png]



	Assets 
	[image: image93.png]




	Bhatt’s Capital
Seth’s Capital

Reserve

Creditors 
	90,000
60,000

30,000

20,000
	Furniture 
Stock

Debtors 

Cash
	20,000
1,00,000

50,000

30,000

	
	2,00,000
	
	2,00,000



Seth died on 1st May, 1992.  Under the partnership agreement the executors of a deceased partner were entitled to:

(i) Amount standing to the credit of deceased partner’s capital account at the time of his death.

(ii) His share of reserve at the date of the last balance sheet.
(iii) By way of goodwill his share in total profits for the preceding three completing years.
(iv) His share in profit of the firm from the closing of the last financial year till the date of death on the basis of average profits of the last three accounting years.
The profits for the three preceding accounting years were as follows:





[image: image94.png]




1989                            41,800


1990                            39,200


1991                            45,000
Prepare Seth’s Capital Account to be rendered to his executor.  Show yours’ working clearly.   
       (6)
15. Bhuvan Ltd. invited application for issuing 1,00,000 Equity Shares of [image: image95.png]


100 each at a premium of [image: image96.png]


60 per share.  The amount was payable as follows:
On application [image: image97.png]


35 per share (including premium [image: image98.png]


20)

On allotment[image: image99.png]


75 per share (including premium [image: image100.png]


40)

On first and final call the balance amount. 

Applications for 90,000 shares were received.  Shares were allotted to all the applicants and the company received all money due on allotment except Kaushik who had been allotted 2,000 shares, and his shares were immediately forfeited.  Afterwards first and final call was made.  Sonu did not pay the first and final call on his 1,000 allotted shares.  His shares were also forfeited.  40% of the forfeited shares of both Kaushik and Sonu were re-issued for [image: image101.png]


95 per share as fully paid up. 
Pass necessary journal entries in the books of Bhuvan Ltd. for the above transactions.  


         (8)  
OR
Harsh Ltd. invited applications for issuing 2,00,000 Equity shares of [image: image102.png]


10 each at a discount of 5%.  The amount was payable as follows:

On application - [image: image103.png]


3 per share

On allotment - [image: image104.png]


4 per share

On first and final call – the balance amount 

The issue was fully subscribed.  Shares were allotted to all applicants.  ‘X’ to whom 2,000 shares were allotted paid the entire amount of his share money at the time of allotment.  ‘Y’ to whom 1,000 shares were allotted failed to pay the allotment money and his shares were immediately forfeited.  Afterwards the first and final call was made.  ‘Z’ did not pay the first and final call on his 700 shares and his shares were also forfeited.  All the forfeited shares of ‘Y’ and 500 shares of ‘Z’ were reissued for[image: image105.png]


8 per share as fully paid up.  Pass necessary journal entries in the books of Harsh Ltd. for the above transactions.   

16. On 31st December 2004, The Balance Sheet of A and B, who are partners in a firm sharing profits in the ratio of 3:2 was as follows:                                             





       

	Liabilities 
	[image: image106.png]



	Assets 
	[image: image107.png]




	Capital Accounts:

                                   A

                                   B 

Workmen’s Compensation Fund

Creditors 
	2,00,000

80,000

10,000

70,000
	Goodwill

Plant

Patents

Stock

Sundry Debtors

Cash

Profit & Loss A/c
	20,000

1,00,000

10,000

1,42,000

50,000

18,000

20,000

	
	3,60,000
	
	3,60,000


They agreed to admit C into partnership for 1/6th share of profits on the following terms:

(i) Goodwill is to be valued at one year’s Purchase of the five years’ average profits which were [image: image108.png]


20,000; [image: image109.png]


30,000; [image: image110.png]


30,000; [image: image111.png]


40,000 and [image: image112.png]


60,000 respectively. 

(ii) C agrees to contribute ¼ of the combined capital of A and B in the New Firm.

(iii) Plant is to be written down to [image: image113.png]


80,000 and patents written up to [image: image114.png]


12,000.  A provision of 2% on debtors is required.  A liability of [image: image115.png]


5,000 included in sundry creditors is not likely to arise.  

Prepare necessary ledger accounts and opening balance sheet after the admission of C.      
OR

Following is the Balance Sheet of A and B:
	Liabilities 
	[image: image116.png]



	Assets 
	[image: image117.png]




	Capital Accounts:

                                        A
                                        B
Creditors 

B/P

Reserves
	16,000
10,000
5,400
2,600
3,600

	Goodwill

Machinery

Plant 

Debtors                       11,800
Less: Provision             1,800
Bank
	4,000

6,000

12,800

10,000

4,800

	
	37,600
	
	37,600



They decided to dissolve the firm.  Assets are realized as follows:


Machinery 10% less than book value; Plant [image: image118.png]


12,000 and Goodwill [image: image119.png]


2,520.  A is to take over Debtors amounting to [image: image120.png]


6,800 at [image: image121.png]


6,000; remaining Debtors were realized for 90% of the book value.  One bill of [image: image122.png]


600 under discount having been dishonoured had to be taken up by them.  The Bill Payable of [image: image123.png]


2,600 to be assumed by B at that figure.  Creditors are paid off at a discount of 10%.  The liquidation expenses amounted to [image: image124.png]


400.


You are required to show the Realisation Account, Capital Accounts and Bank Account.       
       (8)  
PART B (ANALYSIS OF FINANCIAL STATEMENTS)
17. Dividend received by a Mutual Fund Company is classified under which kind of activity while preparing Cash flow statement?                 








        (1)
18. If the Acid Test Ratio of a company is 0.5:1.  State whether ‘Purchase of goods on credit’ will (i) Increase, (ii) Decrease or have (iii) No Effect on the Acid Test Ratio.            



        (1)
19. RJD Ltd. is engaged in constructing and selling residential flats.  State giving reasons whether the cash flow due to the construction and selling of residential flats will cash flow from operating activities, investing activities or financing activities?        







        (1)      

20. “Financial Analysis is affected by window-dressing and the personal ability and bias of the analyst.”  Comment.         










        (3)
21. State any four items which are shown under the heading ‘Miscellaneous Expenditure’ in the Balance Sheet of a Company as per Schedule VI Part I of the Companies Act 1956.          


        (4) 
22. You are able to collect the following information about a company for two years:

              2004 ([image: image125.png]


)
2005 ([image: image126.png]


)


Book Debts on April 01

             3,00,000
4,00,000


Book Debts on March 31
               

4,60,000


Stock in trade on March 31
             5,00,000
10,00,000


Sales (at Gross profit of 20% on sales) 
6,00,000
18,00,000


Calculate Stock Turnover Ratio and Debtors Turnover Ratio for the above two years if in the year 2004 stock increased by [image: image127.png]


1,00,000.                                                      




        (4)
23. Calculate Cash flows from operating activities from the following information:                

        (6)
PROFIT & LOSS ACCOUNT for the year ended March 31, 2010
	Particulars 
	[image: image128.png]



	Particulars 
	[image: image129.png]




	To Carriage Outward
To Salary and Wages
To Depreciation 

To Loss on sale of Machinery

To Goodwill written off

To provision for tax

To Net Profit 


	40,000

55,000

12,000

8,000

12,000

13,000

2,70,000
	By Gross Profit

By Profit on sale of Furniture

By Income Tax Refund

	4,00,000

8,000

2,000


	
	3,10,000
	
	4,10,000


             Additional Information:


April 01, 2009

April 31, 2010







        ([image: image130.png]


)

         ([image: image131.png]


)   


Provision for Tax


19,000


27,000



Proposed Dividend


10,000


15,000


Outstanding Salary 


6,000


8,000


Payables            


42,000


50,000


Debtors               


30,000


42,000


Stock     



50,000


44,000


Short term Investment


10,000

             20,000  

Part C (Computerised Accounting)
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